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Is there any one who — o1 RY TR MW MART INAY RN N
maintains that a physical change does not effect acquisition

Overview

»ax, in support of A0 27 (who maintains 71p WX WIX°), challenged 'm0
(who maintains 7117 2X°) from a Xn*72 concerning a stolen 71277 that it is
prohibited. a8 assumed that this Xn*72 was discussing a case where the
thief stole a 1211 animal and brings it for a j27p after wIX> (and nevertheless
it is not acceptable, proving that 7132 1°X wX*). 727 rejected this premise that
he stole an animal, and maintains that he actually stole a 727p. To prove his
point 7127 cites another XN>72 concerning 27 NXMY; the 27 can only be Xnaun
his couch [120wn], but not a stolen couch. In this Xn>72 the exclusion of a
stolen couch cannot mean that he stole wool and made it into a couch, for
everyone agrees that a 7wyn "11°w is certainly 1P and it would be considered
2177 YW 120wn, but rather it means that he stole a couch; the same applies by a
1297, that he stole an actual 1277 (not a "7 animal).2 The entire refutation of
127 (to the proof of "aX) is based on the fact that the ¥n>92 of 120wWn must be
discussing a case where he stole the 2own itself (not the raw materials to
make a 20wn) and therefore the &n>>12 of 917 891 127p is also discussing
where he stole the 127p itself (not a P11 animal). Mo will explain why
3»ax could not refute the T°nyu? and establish the X012 in a case where he
did not steal the 20w» but rather the raw materials and nevertheless (under
certain circumstances) the "°¥ is not 711p.

mMooIN anticipates a question: .
— 11219 MIPNA NPV TININRT INNPY N2 NINPIND Y2 NDY

And »2X did not want to establish the Xn>72 according to w'"2 who
maintain that a ‘change’ remains in its place. Seemingly *»ax could have
responded to 7727 that this Xn™12 which 7727 cites is according to w"2a and it is indeed
discussing a case of Awyn "11°w (where he stole wool and made it into a couch), similarly,
the Xn>12 which »2x cites is discussing where he stole a 1211 animal and was w>7pn it for

' The 5"w1an amends it to read X270,

% In both mn™7a there is a similar T"; one 731 X1 127p and the other 2137 X1 125w, 727 maintains that
just as 2 K21 120wn is referring to a case where he stole the 120w itself (not the raw materials that can be
made into a 120wn) similarly the Xn>>92 of 71137 &21 11277 is referring where he stole the actual 1297 (not an
animal which can be made into a 727p). This is the Tvu? of 737, that *>2& must also agree to this.

? Alternately [or preferably] moo1n may be asking concerning 7121 [or preferably X27], or the X137 n°310.

* This is referring to the "2 on 2,7"0 concerning J1nX. According to w"2 if he gave her wheat for her 10X
and she ground it into flour, this change does not alter its status and it remains 717 11nX. Similarly even
when there is a ‘change’ in the physical status of a stolen item it is still considered to belong to the owner
and the thief does not acquire it.

> See footnote # 3.
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a 1277 after wwe. This would refute the Tnyv9 of ®7127. 2K nevertheless did not respond
this way because he would rather not establish a Xn>92 according to w"2a since the 73777 is
always 7"22.

Mmoo anticipates a difficulty with thlS answer:
— (3,58 97 )0PY) N)D‘7 HTNNA 5N 99207 NI 23 NIINT 2) DY N

Even though there are also various 2°8in in 822 %137 275 who maintain
this ruling of w"a that 7w ypna 11w, therefore perhaps the 71377 is like these o°Xin (and
v"1) who argue with 7"2 —

mooIn responds:
— NP MNPYT HHN N5 NIYN DIPN Yan

Nevertheless the 712%7 is like 71"'2 that "o is 7397 and therefore »ax prefers
that the &n>12 be X297 82OHX —

mooin strengthens his contention that concerning a1 "W the 70917 i is n"ao:
— 19 9210 N92)N 9929 YN 51925 Y920 I8N ININ 119197 *Xa9 5N /) oM

And also, 829, there negated the opinion that those aforementioned 2°Xin
maintain that 7139 1°X "1°w, but X217 rather insisted that all those 2°8in can

agree with "2 that 7132 "1 and in the entire X923 it is so maintained
that 713 "11°w, therefore »aR could not reply that this X072 maintains 7217 12°R MW,

mooIN anticipates an additional difficulty:

— 53 N7 VINT INDY NIINT 1199925 9NN PWA SNDINY S¥a R
And X did not want to establish that the Xn»72 is discussing a change
which is reversible, for there is one who maintains that a -nnn MW
IN™927 is not 73Ip. Seemingly (again) *ax could have said that the Xn>92 is discussing
a case of 20wn 72y XY 213 (and the other Xn*92 is discussing where he stole a 1"
animal), and the reason the "W is not 71 is because it is a °°12% 177 W and there is
an opinion that 1n°72% M7 W is not 1P, and the Xn»92 follows that opinion.

mooIn responds that ™2k could not assume the Xn>>72 follows the view that A "MW
N°°72% is not 7P
— PINY YINYA XUN N297 1P9¥ 1Y XY 90 297
For ney» 29 (whom 2Kk wishes to support) argues with 739 only
concerning X" alone -
= Doyh NYYII9TD N2 N2 Y99INRT INIIAD AN ITIAN NWYN MY YaN

% mooin is discussing why »ax did not refute the 7myu™ of 727, However even if the '72yu%) would be
refuted, 727 can (seemingly) maintain that 9737 821 1127p is referring to 1279 712

"It is »2x who states there that PXxynw» ' “TYHR 72 2" "R w2 A7 12 W' all maintain 7Y wI1pNRa MW,
¥ This would seemingly support the contention (see footnote # 3) that Moo was explaining why X217 did
not establish to Xn>72 according o the 72y ¥1p»2 MW 7" (however on the other hand if this were indeed
so N1vo1N should have states 579913 827 °17). For if the question is on »2X, what proof does M201n bring from
the fact that 27 °177 when 2k disagrees with him (see previous footnote # 7).

° This is 2,7% 1P% 13m° " (according to nvoN [mentioned previously] on 177 7"7 2,70)
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However concerning mwyn "mw, even by a nwyn "w which is =mn
>3, which is the 1w that 739 is discussing® as I previously

explained;" concerning this issue of [11™2% 1] "W, there AOY 21 -
0y PHaND

Does not argue with 7127; rather he agrees with him that any Awy» "W even 117
1n°>72% is anp. Therefore Ao 27 would not choose to establish the Xn>92 according to an
opinion with which he, 701> 27, disagrees.

Summary
The Xn»72 of 120wn cannot be established according to ¥"2 (who maintain

NTAY IMPH2 M), since the 7597 is (7"20) that 713 Mw. It can also not be
established by a 1n»92% annn "MW since both 79 271 1727 agree that even a
N>R T W is AP,

Thinking it over

Mooin states (in the end) that 701 27 agrees with 727 that (even) a N MW
11”727 is 7P (and that explains why 2k did not establish the Xn»92 by a
8N**72% N 1w). When mooin asked his original question (that the &n**n2
follows the view of w"2), why did he not answer that 101> 27 maintains that
"W is P (and therefore we cannot establish the Xn>72 according to those
who maintain 7199 1R "w) 12

!0 This can be found on the '} Ty where 7127 states that 1P "rw. There is no argument there from 7o 17
indicating that concerning "1°®, there is agreement between 701° 271 727,

a7 a,m0.

2 See X"wan? 2" 1.
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